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2H: AES
HE: 30 WA MO CQ(UNDITUE/AYVHE)

Chels FOID ENEE RXME ME (S &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
== 1,135,929 940,118 195,811
=0 MY HO ER(UI S /LLAE) 867,842 653,660 214,182
=0t Siote AUXAE o 476,835 457,104 19,731

LT S (QAH]) 23,975 0 23,975
101 @12 bl 23,975 0 23,975
04 DIt 22 XS+ 23,975 0 23,975

OFU=XE=20] 12AH| 23,975
—Jl2= 66,800& x1H 2552 17,034
- 5= 66,8003 1«53+ 3,541
— A2 28 200,000& 12 %123 2,400
—d03 500,000& 19 »23] 1,000

UL 116,247 156,531 A 40,284
201 2Bty 110,247 91,622 18,625
01 AtR 2t 2l | 21,300 20,600 700

OEES2(8+9% 28 . 2UE S) A
100,000& *153] 1,500
oA =7 2204l 200,000& =123} 2,400
Otlad SZIsE st2+7Y  200,000& 128 2,400
OFAstEA 22288 2
200,000& =123/ 2,400
O3&a& elofH #eldl £ ¢
1,000, 000& »3CH 3,000
o284 9,000
— =3 9,000
24X 60,0002 x1E 110 6,600
2d=8 22 60,0008 »2H 20 2,400
Oelsll 428 50,0002 122 600
02 3524t 88,947 71,022 17,925
OdZHI(Dtsgde RRU XH)
1,651.12& 154 *35J1 Ot S +53] 4,072
OXMotAHES =FO  1,551.12& %1004 =603 9,307
Og I &Hl X 250,000& »23] 500
Oul=2l &dl FXHl 500,000& »2CH »32 3,000
OSSsa4d 22l | 22,480
— a2 200,000& =123 2,400
—&Jles 90,000 x12& 1,080
— A€ 7 Xbl 500,000& =109 £ 5,000
-5 4 F3x 2
1,000, 000& *23] 2,000
— 22 ES 72 100,000 *10H A +122 12,000
OgesItE KA 2 40,648
-8 1,347.78& »300¢ *12E 4,853
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SNBSS
M F0l ME MO CO(UNDIHE/UBHE)
Chels FOID ENEE RXME ME (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— &HAX 1,347 .78& %3004 *3CH*12& 14,557
— M= A X 1,347.78& %3004 *12& 4,853
— 2 X X 1,551.20& 3004 *12& 5,585
— S A2l 150,000 x6CH *12& 10,800
OCCTV 2Hul A2 30,000& x11CH*x12& 3,960
OCCTV(Eg M YDl £I1) gtz ¥ sX22/d]
45,000 *7CHx12& 3,780
ORALZI 29 CCTV Xtz
100,000& = 12& 1,200
405 XtAHE S| 6,000 21,000 A 15,000
01 JHAHE =2 Z F S b 6,000 21,000 A 15,000
O M2 ¥ 22 7 1,500,000& x4 3] 6,000
2l =x 126,344 126,344 0
301 dEtE A= 126,344 126,344 0
0B ESH-0/& -EtEEs8AZ 121,850 121,850 0
ooldes 243 114,800
—Jlss4 200,000& x35H x12& 84,000
— &3 200,000& *35% *200/ 100 14,000
— 3o FA&Y 20,0003 *35H x23| x12& 16,800
oetEgAZ 25,0003 * 1419 »23] 7,050
09 HAIAHIBAZ 4,200 4,200 0
OO0l &EH AHAIZE SHAAE 242
120,000& #3594 4,200
12 JEtE &2 294 294 0
O0l& MY IIS8SE X2 7003 *354 02128 294
FOIXXME 29 (02H]) 47,949 0 47,949
101 @121l 47,949 0 47,949
04 JI2ZtH 22 XNHEE 47,949 0 47,949
OXXIME EA L HALZL 2 47,949
—-JI=23 66,8003 2™ »255 34,068
—F54 66,800& x2% 53 7,081
— A28 200,000 »2H x12& 4,800
— &3 500,000& *2H 23| 2,000
FOUTNXMH 29 100,600 112,509 A 11,909
201 et A | 95,600 63,600 32,000
01 AFR22t2l Yl 95,600 63,600 32,000
OFURNXHEH DNESH(ZAZ) 57,600
—3EH 50,000& x24L x12& 14,400
— Sadl 50,000 x24! x 122 14,400
— Mot A 50,000& x24 x12& 14,400
— It 50,000 x242 x12& 14,400
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2N BEE
o] 3l
el

HE: 30 WA MO CQ(UNDITUE/AYVHE)
Chels FOID ENEE RXME ME (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFTXAEE EA&+H
20,0003 x25H «12& 6,000
OMg e HE XAl 10,000, 000& 10,000
OXXME Z2O&A &I Al 22,000
—ZFHy MY 300,000& »24 4 7,200
—dREHY 2AX 200,000& 24K 4,800
—MEddas I3 2,000,000& «5& 10,000
301 L2 LS 5,000 5,000 0
09 HALAHIE& S 5,000 5,000 0
OoXtifz2d FA2a=3 5,000
— X XXHdEH &2 2,500,000 13 2,500
— Xxigtgs As 2,500,000& x13l 2,500
Mol & S5+ 50,000 50,000 0
401 Al HIZ 201 8] 50,000 50,000 0
01 A& HI 50,000 50,000 0
OHHE Lol & =2 = Moilidl FHIALE
50,000,000& 50,000
AES(HRFAHI) 11,720 11,720 0
203 R =&t 11,720 11,720 0
01 1228 =2H 6,600 6,600 0
OJ&2dg =4l 6,600,000 6,600
02 33 H 2= 920 920 0
A MU s MIIEH 40,0003 »23H 920
04 FN2ELRZ=TH| 4,200 4,200 0
SPA2E LR FEH(25210]8t)
350,000& »12& 4,200
WHE MEEAXY 161,007 146,556 14,451
MR 2 AEH ZLAXH 11,500 146,556 A 135,056
201 £B-2dH| 11,500 11,500 0
01 At 22l 11,500 11,500 0
O¢HEY ZEHID 2283 & 500,000& *33] 1,500
O&ES AJA gZ2eE3 ¢
500, 000& *43] 2,000
OAIJIXl Z28A J2&tH 22|83 2 3,000
— & 10,000& 100 1,000
— &4l 10,000& »150L 1,500
— JIEt 500,000& 500
OXEHE ZS4 FHI 5,000,000& 5,000
AJFR &L e ZAXH(012Y]) 149,507 0 149,507
101 14l 149,507 0 149,507




2N BEE
o] 3l
el

M 30 #E MO TO(UUDTTHE/AUHME)
ool WS MEBHALM CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
04 JI2ZtHIZ2 2 NEES 149,507 0 149,507
OUISHESAIYE Y HAEH EHD| o124l
100,000& * 11 x5 *33] 16,500
OAIIR ZEtA 2 JI2 S 22| o1 21|
66,8008 *32H 90! 18,036
OgHEAS 21 AHH| 66,800& 12 60 4,008
OB AIE HA o1AH| 66,800& x4 »72 19,239
OXEG  AMIA o M=2Y ol2Hd|
100, 000& *2H 99 19,800
OFEDIZBE el oAH| 23,975
- J22 66,8003 1 x255 17,034
— =554 66,800& *1H x53F 3,541
— A3 EEg S 200,000 x1H x12& 2,400
— &= 500,000 x1H x23| 1,000
OAIIFR MAJI=H & TE2FHA 2124H| 47,949
A== 66,800 x2H x255 34,068
—FE2G 66,800& x2% x53F 7,081
— Al Eg 2 200,000 2% x123] 4,800
— a2 500,000 x2H x23| 2,000
NS AS NS AL 230,000 50,000 180,000
=0l =AY 230,000 50,000 180,000
401 Al HI L2 T 230,000 50,000 180,000
01 Al&H| 230,000 50,000 180,000
OXEE F0ME ARD 0I2A5H2E XS ALY
230,000,000& 230,000
MM 2AAH| (KMES)(IIEHIIE) 268,087 286,458 A 18,371
olet 2 g | 62,877 74,428 A11,551
ol 2AY| 62,877 74,428 A 11,551
101 e1214| 62,877 74,428 A 11,551
01 2 62,877 74,428 A 11,551
O&ETF A2t 224 62,877
— AUt 62,877
o= 11,401 x6H *30A| 2tx12& 24,627
e= 10,299& x6H #30A| 2+ x12& 22,246
- 82 9,246 *3H x30A| 2+ 12& 9,986
- 9= 8,357 x2H x30A| 2tx 128 6,018
Jl2&tl 205,210 212,030 N6,820
I=BH(RES) 205,210 212,030 16,820
201 LBt | 130,090 136,850 AN6,760
01 AP 22| d| 53,580 49,700 3,880
ORAAMANAHY S92 250,000& x12& 3,000
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2H: AES
o WH2AAH (HES)(OIEH/IIE)
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O&Z)| etdzel =2 150,000& 12 1,800
OsdIl Z2M =82 200,000& x13] 200
O&J|etd e el =2 400,000 x12& 4,800
OAZAIZ ZHl & Akl 1,000, 000& 23| 2,000
O&EAM2el Xl 7,000,000& 7,000
OYEFLT ARES 28 20,0003 +38+12& 9,120
OYSEX HU=AEK 2Y
25,0003 38 0.6 A +128 6,840
O=gl dxz 330,000& x1CH*12& 3,960
OXZgleH EU2(EHA) 300,000& = 1CH+323 900
OMII? EH &L A2E P S(ZeH, #
A S) 200,000& x53] 1,000
OO2ls ALRIID1 |X2eldl 200,000& 128 2,400
OYR=ZE Sl 8,000& x22H 602! 10,560
02 2324gHl 76,510 87,150
OFNLEE 2B 28523 2 MM
300,000& »12& 3,600
OdJ|etd Hd =2 950,000& x13] 950
OXIRS 36,000
— A 1,500,000& 122 18,000
— NEN FOUNHE, SR A
1,500,000& »12& 18,000
Ofdt+=E 23 2,580
— A 120,000& =128 1,440
—HEE 50,000& x12& 600
— 52 AE 45,0003 123 540
OREes AIEE 25,000& 123 300
OFA 2IHY AEZ 600,000 128 7,200
OAetdE 3l 100, 000& 13l 100
OX&EZ gy 23 15,0002 128 180
OXg&d dat 2= 50,000& 123 600
OFAL 283 &HAHI 2,000,000 *20H 2 4,000
OAN&EEH SXHI(HA, XXIAH)
5,000& x2,000m’ 10,000
Od - HEAIE |XI22 3,500,000& » 14! 3,500
O&ZJl A2l 7,500,000& 7,500
202 o4dl 75,120 75,180
01 = LH o4 1l 22,320 22,380
OINSZAHAMNSE HE 22 S0
80,000& x1H »153] 1,200
OgRFA 22 =2F0H|
110,000 *5H x3U « 123 19,800
Odldlel Bt&Z =M SAHA 0]
20,0003 »22H x3 1,320
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2019 A=l &l
2N 2UdH
A FOME BN (LUNIIHT /AU HE)
& =20 FMots UXHFE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
a0 e 606,376 534,679 71,697
TOIME HOoF (YT HE /LBt ) 446,654 381,507 65,147
=0 gMHote KXHEF 446,654 381,507 65, 147
UDHHE e (0124H]) 24,977 0 24,977
101 @14 dl 24,977 0 24,977
4 D12t ZE2XREES 24,977 0 24,977
OsXas el el 24,977
e = 66,8003 x 1 x2552 17,034
—F5d 66,8003 »1H 53 3,541
-5 100,200 x1H x 10 1,002
— A28 = 200,000& x1H =123 2,400
— &0z 500,000& 18 *23| 1,000
Lot d o= 78,253 126,016 NAT 763
201 £B-2%H| 61,253 64,979 A3,726
01 At 22/l 10,760 7,544 3,216
Oget==EH| 3,120
— QA HD] &eldl 70,0002 20123 1,680
—HAMN B3HIE 2 7Y
120,000& =128 1,440
OFX&E (A=) dxtz 1,000,000 14 & 1,000
OXtiHZ2H AL E2=2 & AEES
1,000, 000& 1,000
Ost& 4 diol 2teltl 210,000& *43] 840
O&AMN HHEH & |22 4,800
— ¢ ZHl 300,000& »12& 3,600
— S 2teldl 100,000& = 12& 1,200
02 3322l 50,493 57,435 NB,942
OEM &4 SR228EF 7L
200,000& »12& 2,400
OEI 223 50,000& x12& 600
O3saa4a 22K A 18,950
- =2} 11,760
H-ER= 270,000 =128 3,240
I3 90,000& x12& 1,080
g2 2 st&X 2 500,000& =122 6,000
sheEHe3 120,000& = 12& 1,440
— 3334 2elsXdl 7,190
o 23 150,000 *7H 2 1,050
ST A=, 100,000 *7H & 700
ANESRI 24 4,000,000& 4,000
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S 2
HEl: FOME HOMT(LYNIJYT /YY)
9l ZOID BMGE KA CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OJI235tE & AZ2222| oAHY|
100,000& x5H 4 %33 6,000
O&otel=2a 2e| olAy| 66,800& 2% 30 4,008
s MEstd XM 16,932 37,515 N 20,583
201 £Bt24d| 13,432 3,400 10,032
01 A2t 2| bl 2,000 2,000 0
OHATKR ZEA U JIRFC 22|22 22
2,000,000& 2,000
02 224 H| 11,432 1,400 10,032
OdzHEHE SFU 200,000 x73| 1,400
OdaH|(DiSsgds =20 XH)
1,551 x15L*28Jl O S *x53| 3,258
O (A9 SFUH XH)
1,551 «80L*203] 2,482
OXH otHESE SSUH(sT2ZX, 228, A
ES5X7Y £) 1,551 x30L*30H & *203] 2,792
OA&EZ&Hl |4l 1,500
— 0l oI &8 |4 500,000 *23] 1,000
— 2tA XY X4 250,000& *23| 500
206 M = dl 3,500 2,500 1,000
01 X2 H| 3,500 2,500 1,000
OBHATK Z8A U 23 22 M2 22
2,500,000& 2,500
Ogotel 2 22 M=l 1,000, 0008 1,000
FOI=2AANS 130,000 55,000 75,000
401 Al EHI L 204 HI 130,000 55,000 75,000
01 Al&H| 130,000 55,000 75,000
O2WUHH F=01ME XA 130,000,000 130,000
Molltid & ss=23 50,000 50,000 0
401 AlEHIZL £ 0HY| 50,000 50,000 0
01 Al&Hl 50,000 50,000 0
OEH=1Iloll THoHCHEl HYIAS 50,000,000 50,000
A (LR F=EXH]) 10,840 10,200 640
203 €2 F=&d| 10,840 10,200 640
01 JI22HYLRFAH| 6,600 6,600 0
OJ|22g9 28| 6,600,000 6,600
02 RIS AREAY| 640 600 40
OZZ HESUHE S AT (I Z=M:40,0008)
40,000& 16X 640
04 EASHEIRFAH| 3,600 3,000 600




2N 2UdH
HEl: FOME HOMT(LYNIJYT /YY)
Selr =00 gMols AXEH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORMSLYRFAHI(2021015t)
300,000& »12& 3,600
HE2AZH(ZUH)(IIEH/IIE) 159,722 163,172 6,550
ol 2d | 44,262 45,292 A 1,030
ol 2| 44,262 45,292 A 1,030
101 @124l 44,262 45,292 A 1,030
01 2=+ 44,262 45,292 21,030
OZUWHYE At 28+ 44,262
L 44,262
= 11,4013 x5F «30A| 2t 128 20,522
= 10,299& x2H «30Al 2t 12& 7,416
- 82 9,2463 «4H «30Al 2tx 128 13,315
- 92 8,357 «1H+30Al 2t+123 3,009
Jl2 &3l 115,460 107,880 7,580
Jl2dul(ZUHd) 115,460 107,880 7,580
201 ¢er24] 61,520 54,000 7,520
01 At 2t 2/l 43,880 39,260 4,620
O e8| 27,680
—HRFL ARES 7Y
20,000 x20H «12& 4,800
—dAA=EMEXN 2
25,000 *0.68f A*20H « 122 3,600
—HEBA Q TYE £ 7Y
300,000 +3CH x6.2 5,400
—ZHEZeH Az 165,000 «1CH+12& 1,980
—ChJIs APRI1J1 22l |l
200,000& 122 2,400
—E22 M (82,28 AUE )
100,000& *153] 1,500
— EAtzte] szl 5,000,000& 5,000
— 203 492 250,000 1228 3,000
Oo2g+¢ 9,000
— g - =3y 9,000
oA 60,000 x1H =110 6,600
g - =2 (2Y) 60,000 x2H 202 2,400
Ozsuy ALEN 2|
8,000& x15H 60! 7,200
02 232gHl 17,640 14,740 2,900
O=s22= & HA 17,640
—SH Y5 250,000& 12 3,000
— &I (FALEXIH S)
950,000& »12& 11,400




SN ZLe
o WHSABH (W) (OIEH/IIE)
Sl =B

SA BB O () - MM - HES 0l &+ o4 il
— AT AIER3 150,000& 12 1,800
— 3N RES 50,000& *23| 100
— A 2R 450,000 »23| 900
—REYE MEZ 20,000& x12& 240
— AEAIE EHl & A 200,000& x13] 200
202 04 HI 53,940 53,880
01 = LH o4 1l 17,940 17,880
ONZBAAS Bal 2ol B0l
80,000& x1H 153 1,200
OYRET e EX0IH|
110,000 *4H 3L 123 15,840
O&lHle HI&Z =M SAA Ol
20,0003 x15H 3 900
02 A0y 36,000 36,000

OH
o
OB 42X AU

200,000& »15H »12& 36,000
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fH: D2
M 30 #E MO TO(UUDTTHE/AUHME)
9l ZOID BMOE KA CERED
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oostazgaa 25,0003 87 x23| 4,350
09 &AL HIZB A S 3,120 3,120 0
OO0l ZE AHAIE SBAMH 2o
120,000 26 ¥ 3,120
12 JIEtE 43 210 210 0
O0ld Meil=s& = 7003 250t S +128 210
ARG MEsd TH(eAHl) 80,707 0 80,707
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— S 2B 400,000 400
—F¥Us 2 HSHA === 1,700,000& 1,700
—dEF & o7 50,000& *x79& 3,950
401 Al HIZ 201 8] 84,000 74,000 10,000
01 A& HI 84,000 74,000 10,000
Otddstd 18 SLEAM 80,000
—dMAI} 2R 10,000, 000& 10,000
—dHE+ 25,000,000& 25,000
—Jla8+ 25,000,000& 25,000
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2H 2EH
X HolI= IP%?I(% Eg/lﬁljlg)
??: 25N SOHEHIISHAIE 2el (&)
4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—MIZE HOZ, ot LM (&, <)
5,000,000& 5,000
—Z2EY OIXwE 5,000,000& 5,000
—2HdI e & 2I] et W
10,000, 000& 10,000
OMeII=HELELA KAHl 800,000& *5EA 4,000
405 KtobH S| 19,800 19,800 0
01 AL ESFH S 19,800 19,800 0
O MMMy Dl &5 2 3,300,000 «6EA 19,800
ZCH sHEHIISHMEAALE 2F(21244]) 85,396 0 85,396
101 @124 Hl 85,396 0 85,396
04 DIt Z2XREES 85,396 0 85,396
OZME A2AIE JIJIZEA 22 33,103
—Jl=s 94,4903 x 1 255 24,095
- =54 94,4903 » 1Y 53 5,008
—MIEBEE 250,000 x 12 «12& 3,000
— &0z 500,000 1 %23 1,000
OBME MAHX HIISHANL HESE 8
oI 52,293
—Jlzs 73,8503 x2H +255 37,664
-5 73,8503 x2H x53= 7,829
—AMIEEE 200,000 x2H 128 4,800
— &0z 500,000& x2H %23 2,000
HY2AZHI (= H)(JIEHIIE 474,115 446,503 27,612
el 2d | 60,342 81,682 A21,340
ol 2AY| 60,342 81,682 A21,340
101 @124l 60,342 81,682 221,340
01 2= 60,342 81,682 A21,340
OXEY At 22 60,342
— QA 60,342
= 11,4013 «*8H «30A| 2t 128 32,835
= 10,2993 »4H »30A| 2t x 12& 14,831
- 82 9,246 x2EH «30Al 2tx 1228 6,658
- 92 8,357 & 2 »30A| 2t+ 128 6,018
Jl23l 413,773 364,821 48,952
Jl2dul(=2cd) 413,773 364,821 48,952
201 L2l 277,393 240,081 37,312
01 At 22l 213,816 183,236 30,580
OZgdd R4 =&l
8,000 »24H x50 11,520
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2MH EEH
& #Y2IZU(ZEH)(IIEHIIE)
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Otl+==Z 2RI S
8,000 «2H x50 «2J4 A 1,600
Ogaa &3 ME= 21,000 x6Z *6 2 756
OEEE MXE (B89, 20 HHE 5)
100,000& *153] 1,500
OYEFL ARES & 20,0003+35+122 8,400
OFX=AEX 2
25,0003 +0.68F Ax24H 123 4,320
OoIRA S FAI| B2lU(EFL ZE)
50,0003 x4 A+ 12 2,400
OIYA S#AFSS a2 7Y 60,0008 «122 720
OBHAPE WA U TP £ 7Y
280,000 »4CH x53] 5,600
OFALE £l 7o (22 44)
300,000 »2CH x4 3 2,400
OAMEII1JI =els KXt 100,000& =128 1,200
Oo2g+¢ 173,400
— LR (H AX,ILAL, & B
60,0003 x6H «110 39,600
— =E (M AR, JLAL, &8
60,000 x6H x3652 131,400
—d=F(2Y) 60,0003 »2H 20! 2,400
02 =24l 63,577 56,845 6,732
O A |X2eldl 250,000& »12& 3,000
O3 % HA 26,734
—RE L¥E5R= 200,000& 128 2,400
—RHeESE AE2(12J04) 250,000 12 3,000
—3AMSEA B =HAdel 300,000 *33 900
— X% =EAER 2,988
o EHAM 27,000& 123 324
EPNKIES 27,0003 123 324
ERSEN 30,0002 20 2 +12& 720
2O o & 450,000 33 1,350
PRSIl s 90,000& 32 270
—X2EY dIIANER 13,154
- EHA 5,480 *130KWx12& 8,549
- 232 5,4803 «36KWx12& 2,368
-EE¥A 5,480 * 12KWx20H 2 x 128 1,579
SR04 5,480 «10KWx12& 658
—SEAEIIAY B2 & 4,292
-8 FA 123,502& 128 1,483
- X3 74,1013« 124 890
cETA 40,8003 42 J|«20H 2~ 327
CANHEE 37,310& %200 &« 128 896
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02 kA
Mo ox H

S

[mn

0¥ HO 2
02
o
=
H

o) (D1EH/DIEH)

SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
2HES=U 37,3102 128 448
20 S A A 24,7053 103 248
OEAM tHEHl & SX&eltl 4,800
— &4l 300,000& =122 3,600
— S 22 100,000& = 12& 1,200
OgERE g KAl 24,783
- 3E(1&x) 1,348& x3002I A x12& 4,853
—SE((23x) 1,348 3002 A x12& 4,853
— &4 1,348& *3002| & 123 4,853
—&2AEI FA 22l
150,000& =4CH 128 7,200
—MIHEXXE) 180& *1,400kwh* 128 3,024
ORogaggll 29 CCTV Xz
100,000& 12 1,200
OCCTV 2 AIEZ 30,0003 «4CH«12& 1,440
OCCTV(2 g1 gDl £I1) s ¢ |22l
45,0003 301 =128 1,620
202 Odl 136,380 124,740 11,640
01 2ol 78.780 71,940 6,840
OINZ2AANR HE 22 =0
110,000 »3L «3H x12& 11,880
OgR=A 22 =0
110,000 »12H 3L 123 47,520
Odt&r=el 22 S0l
110,000 x10E 15 x 13| 16,500
Odldle B2 M 22X o4l
40,0003 »24H 3 2,880
02 M0 57,600 52,800 4,800
OZSdE GRF& S AHHI
200,000& x24H x12& 57,600
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